
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly
7/4/25

1285-HH 1PH Motor Pulley Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly
7/4/25

Description

Index
Number Part Number Description Size Qty

1 6292512 Motor 3HP 3PH 1

 6292512-MF Motor Fan (not shown) for 3HP 3PH 1

 6292512-MFC Motor Fan Cover (not shown) for 3HP 3PH 1

 6292563 Motor 3HP 1Ph 1

 6292563-MF Motor Fan (not shown) for 3HP 1PH 1

 6292563-MFC Motor Fan Cover (not shown) for 3HP 1PH 1

 6292563-CS Centrifugal Switch (not shown)  1

 6292563-SC Starting Capacitor (not shown) 400MFD, 250VAC 1

 6292563-RC Running Capacitor (not shown) 50mf, 350VAC 1

2 6292513 Pulley 3Ph 1

 6294246 Pulley 1Ph 1

3 TS-1525011 Socket Screw Screw M10x10 1

4 6292515 Bracket, Motor  1

5 TS-0680041 Flat Washer 3/8” 3

6 TS-0720091 Lock Washer 3/8” 6

7 TS-0060081 Hex Cap Screw 3/8”-16x1-3/4” 3

8 TS-0561031 Hex Nut 3/8”-16 3

9 6292520 Plate  1

10 6292521 Rod  1

11 TS-2360121 Flat Washer M12 2

12 TS-1540081 Hex Nut M12 8

13 TS-1525021 Socket Set Screw M10x12 1

14 6295367 Belt, 1PH A-53 2

 6295357 Belt, 3PH A-55 2

15 PJ1285-315 Key 8mmx 7mm x
55mm 1

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly
7/4/25

Additional Information

Stock Number 1791307-3

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-1ph-motor-pulley-assembly

